Agilent Spectrum Analyzer - Swept SA

@ @ | rF [s0qe  ac CORREC INT REF| SOURCE OFF [/ ALTGM SUTC/MORF

Marker 1 A 102.800 ms i Avg Type: Log-Pwr
PNO: Fast ~—w»— Trig:FreeRun
IFGain:Low #Atten: 10 dB

AMkr1 102.8 ms
Ref 56.99 dBuV 1.13 dB

Center 2.425000000 GHz Span 0 Hz
Res BW 1.0 MHz #VBW 3.0 MHz Sweep 200.0 ms (1001 pts)

MSG STATUS

Number of Pulses in 100 ms in Data Mode = 1




Agilent Spectrum Analyzer - Swept SA

I | RrRF [s0q  ac CORREC IMT REF| SOURCE OFF [\ ALIGH AUTO/MORF 08:52:12 &M Feh D4, 2016

Marker 1 A 1.40000 ms ) Avg Type: Log-Pwr
PNO: Fast ~»— Trig:Free Run
IFGain:Low #atten: 10 dB

AMEKr1 1.400 ms
Ref 56.99 dBuV 0.47 dB

Center 2.425000000 GHz Span 0 Hz
Res BW 1.0 MHz #VBW 3.0 MHz Sweep 200.0 ms (1001 pts)

MSG STATUS

Time of One Pulse in Data Mode = 1.4 ms

Total Duty Cycle = 1.4%




Agilent Spectrum Analyzer - Swept SA

B IMT REF| SOURCE OFF [\ ALIGH AUTO/MORF 04:26:51 PM Mar 03, 2016

Marker 1 A 720.000 ps Avg Type: Log-Pwr Tract SR
PNO: Fast (o Trig:Free Run TYFE

IFGain:Low Atten: 6 dB oer A

AMKr1 720.0 ps
Ref 100.00 dBpV -0.45 dB

Center 2.450000000 GHz Span 0 Hz
Res BW 1.0 MHz #VBW 3.0 MHz Sweep 20.00 ms (1001 pts)

MSG STATUS

Time of One Pulse — Pairing Mode — 720 us

Number of Pulses in worst case 100 ms — Pairing Mode = 1
Total On Time = 0.720 ms
Total Duty Cycle = 0.720 %




Agilent Spectrum Analyzer - Swept SA
gd L | AF _|s0ooac |
Marker 1 A 680.000 ps

Ref 100.00 dBpV

Center 2450000000 GHz
Res BW 1.0 MHz

msG 1) Alignment Completed

INT REF| SOURCE OFF |/I\ALIGH AUTC/NORF 04:29: 10 PM Mar 03, 2016

Avyg Type: Log-Pwr TrR4CE FIEERE
PNO: Fast (o Trig:Free Run e (I
IFGainlow  Atten:6 dB oo [

AMkr1 680.0 ps
0.36 dB

Span 0 Hz
#VBW 3.0 MHz Sweep 10.00 ms (1001 pts)

STATUS

T

ime of One Pulse — Advertising Mode — 680

us Total Duty Cycle =0.680 ms / 100 ms =

0.68%

The Data Mode is the Worst Case






